The professor of an introductory statistics course has found something interesting: there may be a relationship between scores on his first midterm and the number of years the test-takers have spent at the university. For the least-squares regression equation INCLUDEPICTURE "http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?50" \* MERGEFORMATINET 


students taking the course, the professor found that the  relating the two variables number of years spent by the student at the university (denoted by [image: image1.png]


) and score on the first midterm (denoted by [image: image2.png]


) is [image: image3.png]


. The standard error of the slope of the least-squares regression line is approximately [image: image4.png]


. 

Test for a significant linear relationship between the two variables by doing a hypothesis test regarding the population slope [image: image5.png]


. (Assume that the variable [image: image6.png]


follows a normal distribution for each value of [image: image7.png]


and that the other regression assumptions are satisfied.) Use the [image: image8.png]




 HYPERLINK "http://www.phoenix.aleks.com/alekscgi/x/Isl.exe/1LW2QqLpfqZCfZb1iW5CuhozPF_TvzOYEuruxFKTma-QhAhwaYexaFu0X7LCL6oz65RShcvvCy_VHd4uOuBkZuQnL2t83s1icsp0Rv-OUd5vBLHi4RR?1PdNbvY2grNCZy5G4gZ25seD925JWhxXFP-3LRhacTF9Hs8jcMy5pdl6oJi-gfwDgVDldU5kOzfX0a-i level of significance, and perform a two-tailed test. Then fill in the table below. 

Answer the following:


[image: image9.png]“The nul hypothesis:

“The altemative hypathesis:

The type oftest statisic:

Degress of resdom: 61

The value ofthe test statistic

(Rounto atleastthree decimal [
places)

The two critcal values atthe 0.10

level of sgrifcance. el

(Roundto at leastthree decimal
places)

Based onthe data, can the professor conclude (using
the 0.10 level) that thers is a significant inear
relationship between number of years spent atthe
university and score on the first midterm?

O Yes O No
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